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QUESTION 1

Of the following device types, which one is most likely to be used in a highly mobile (use while in motion) use case? 

A. Desktop 

B. Video camera 

C. VoIP handset 

D. Laptop 

Correct Answer: D 

 

QUESTION 2

What EAP method is supported on most operating systems without additional installation requirements? 

A. EAP-GTC 

B. EAP-FAST 

C. EAP-TLS 

D. LEAP 

Correct Answer: B 

 

QUESTION 3

You are considering the use of an EAP method. All potential clients have been validated to support the EAP method.
What other network device/location must support the EAP method for it to work? 

A. RADIUS Server 

B. Ethernet Switch 

C. Controller 

D. AP 

Correct Answer: D 

 

QUESTION 4

You have recently changed the passphrase used with WPA2 in several APs and have reconfigured clients for the new
passphrase. Now, a few clients are unable to connect to those APs. Most clients can connect to them just fine. What is
the likely problem? 
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A. The APs have the wrong new passphrase 

B. The working clients have the wrong passphrase 

C. The problem clients are not 802.11-capable 

D. The problem clients have the wrong passphrase 

Correct Answer: D 

 

QUESTION 5

A device is a 3x2:2 device. How many spatial streams can it receive? 

A. 3 

B. 9 

C. 6 

D. 2 

Correct Answer: D 
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